Algebra 2 Bellwork  Friday, November 6, 2015

Al ®

37 Tn the figure above, the perimeter of square Ais —i— the

! ?eﬂmetef of square B, and the perimeter of square B is 5 10, Fifteen percent of the coins in a piggy bank are nickels
e perimeter of square C. If the area of square A s 1 6. - and five percent are dimes.. If there are 220 coins ip the
E otk ‘bank, how many are 10t pickels or dimes?

80
176
180
187
200

. At the beginning of 1999, the population of Rockville
“was 204,000 and the population of Springfield was

' 216,000. If the population of each city increaséd by

. exactly 20% in 1999, how many more people lived in
-Springfield than in Rockville at the end of 19997

C{A) 2,400
- (B) 10,000
- (C) 12,000
(D) 14,400
S (B) 43,200

13. In alist of seven integers, 13 is the lowest member, 37 is

the highest member, the mean is 23, the median is 24, and
the mode is 18. If the numbers 8 and 43 are then included
in the list, which of the following will change?

L Th'e me-ah'

‘1. The median
"II. The mode
(A) I only
B) land only
(C) TandIionly
(@) Mand I only

( (@® LoLandH
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(B) 10,000
12,000
(DY 14,400
43,200

ember 6, 2015

.and five perce

At the beginning of 1999, the population of Rockville
“wais 204,000 and the population of Springficld was
+216,000. If the population of each city increased by -

exactly 20% in 1999, how many more people lived in

Springfield than in Rockville at the €
(A) 2,400 '

nd of 1999 7

13. In a list of'seven integers, 13 is the lowest member, 37 is
‘the highest meimber, the mean is 23, the median is 24, and
the mode is 18. If the numbers 8 and 43 are then included
in the list, which of the following will change?

L f_!."h"é mean

L. ’iThe_zﬁefdian
"I The mode

@ I only |
I and II only

(C) IandIH only
(D) Hand 11 only
(E) I, and I

ank, how many are not nickel

. Fifteen percent of the coins in a piggy bank are nickels
at are dimes. If there are 220 coins in the

s or dimes?



